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Topic:- General English

1) Out of the given four words only one is spelt correctly. Find the word that is
correctly spelt.

1. Throughly
2. Tommorrow
3. Suprise

4. Strategy

Correct Answer :-

« Strategy

2) Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Beawraucracy
2. Democracy
3. Anarchy

4, Parliament

Correct Answer :-

« Beawraucracy

3) DIRECTIONS: Fill in the blank with the correct Preposition.

The sheep are grazing the field.
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1. from
2.in
3. with

4, of

Correct Answer :-

4) DIRECTIONS: Fill in the blank with the correct Preposition.
He reads books great interest.

1.on

2. into

3. with

4. along

Correct Answer :-

o with

5) DIRECTIONS: Fill in the blank with the correct article.
My cousin Ravi will arrive from New York in July.
1. No article required

2. the

3.an

4. a

Correct Answer :-

« No article required

6) DIRECTIONS: Fill in the blank with the correct article.

Their baby bears strong resemblance to its grandfather.
1. No article required

2. the
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3.an

4. a

Correct Answer :-

7) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. The bells off the church have been ringing from morning
2. The bells of the church have been ringing since morning
3. The bells of the church has been ringing from morning

4. The bells by the church have been ringing for morning

Correct Answer :-
« The bells of the church have been ringing since morning

8) DIRECTIONS: Out of the given four sentences, choose the one which is
grammatically correct.

1. Mohan did not borrow anything from his neighbors
2. Mohan did not borrow something off his neighbors
3. Mohan did not borrowed anything from his neighbors

4. Mohan did not borrowed something from his neighbors

Correct Answer :-

« Mohan did not borrow anything from his neighbors

9) DIRECTIONS: Out of the given four options, choose the correct Conjunction
to fill in the blank given in the sentence.

Those bananas aren't ripe they're still green.
1. yet

2. but

3.0r

4. while


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

FRESHERS NOW

Correct Answer :-

10) DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

Go for brisk walking.

You want to reduce your weight.
1. If

2. Although

3. In spite of

4. Despite

Correct Answer :-

11) DIRECTIONS: Out of the given options, choose the most appropriate one to
fill in the blank.

She is sad that she win the sack race.
1. cannot have

2. could not have

3. could not

4, must have

Correct Answer :-

« could not

12) DIRECTIONS: Find the word which can be replaced for the given sentence.
A person who is unable to pay off his debts.

1. Bankrupt

2. Affluent

3. Immigrant

4. Legitimate
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Correct Answer :-

« Bankrupt

13) DIRECTIONS: Find the word which can be replaced for the given sentence.
A life history of a person written by himself/herself.

1. Prose

2. Autobiography

3. Biography

4. Encyclopedia

Correct Answer :-

« Autobiography

14) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

Do you think (a)/ Australia is a more (b)/ democratic country then Britain?
(c)/ No Error (d)

1. (a)
2. (b)
3.(d)
4. (c)

Correct Answer :-

15) DIRECTIONS: In the given sentence there might be an error. Find out which
part of the sentence has an error. If there is no error, mark your answer as (d)
i.e. ‘No error’.

These copies are (a)/ for distribution, (b)/ are they? (c)/ No Error (d)
1. (a)
2. (b)
3.(d)
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4. (c)
Correct Answer :-

« (0)

16) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘To take the law into one’s
hand ‘in the sentence given below?

Her mother took the law into her own hands when she heard that her child had
been abused.

1. to do something illegal in order to punish someone
2. None of the above
3. to wear the clothes of the judge

4. to lift something heavy

Correct Answer :-

« to do something illegal in order to punish someone

17) DIRECTIONS: A sentence with an underlined idiomatic expression is given.
What is the meaning of the idiomatic expression ‘washed my hands of ‘in the
sentence given below?

That car was a real headache. I washed my hands of it long ago.

1. None of the above
2. ended one's association with someone or something
3. changed the parts and machinery of something

4. got something renewed or repaired

Correct Answer :-

« ended one's association with someone or something

18) DIRECTIONS: A sentence with an underlined word is given below. Find the
Word which is most similar in meaning to the underlined word.

We were charmed by his boyish manner.

1. disgusted
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2. repelled
3. attracted

4. annoyed

Correct Answer :-

« attracted

19) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The desk is three feet wide.
1. broad

2. spacious

3. large

4. narrow

Correct Answer :-
e Narrow

20) DIRECTIONS: A sentence with an underlined word is given below. Find the
word which is opposite to the highlighted word from the given options.

The improvement in sales figures had a beneficial effect on the company as a
whole.

1. disadvantageous
2. advantageous
3. favorable

4, similar

Correct Answer :-

« disadvantageous

Topic:- General Science

1) An electric current produces-/ Wﬁg’fﬁr Wmaﬂ?ﬁ%
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1. Chemical effect/WTEFIEWUlﬂH
2. Heating effect/GNﬂHU‘l-lﬂ

3. All of the above/ SURIe T4

4. Magnetic effect/ﬂ@ilﬂﬂm-lﬁ

Correct Answer :-

» All of the above/mﬁﬁﬂlﬁ

2) The air sacs at the end of the smallest air tubes inside the lungs are called-/

a1y P Bws! F W Yeaaa Afdersf $ 0 d 99d gid 3, FEAT 6-
1. Larynx/ U3

2. Alveoli/ GTQW

3. Bronchi STTs

4. Bronchioles/ STfh3id

Correct Answer :-

. Alveoli/ a1 HUHBIY

3) The process of depositing a thin layer of any superior metal over an object of
a cheaper metal with the help of electricity is called-/ aguﬁvmﬁmﬁ‘wam

Tl UTg B U Wil UTg & SR fagad i Hee | Fafia frarwar ?, 39 ogd 8-
1. Electrometallurgy/ faerd erg &4

2. Electroplating/ SdagIw@ifcT

3. Electrowinning/ SeiagTiafT

4. Electrorefining/ SARINGBISHT

Correct Answer :-

. Electroplating/ 3aagI@fci

4) Light of different colours propagates through air-/ fU=-firs 30 &1 Y= od arg

QA g i g 8-
1. With the velocity of sound/ @H & a1

2. With the velocity of air/aT!g%a"T‘v}[
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3. With different velocities/ - am @

4. Having the equal veIocities/FITIFlaTﬁ@[

Correct Answer :-

« Having the equal velocities/ THE a7 &

5) Sewer pipes are made up of-/ Hla? UTsU 91 g 8-
1. Cast iron/ PRE 3TAA &

2. None of these/ ITH I IS ol

3. Copper/ PHIR b

4. Aluminium/ TAMATH &

Correct Answer :-

. Cast iron/ B MRA®

6) A force that opposes the motion of one surface sliding over another is

called-/ U®% Hdg &I gal Hag W e W 7ifd &1 fajy S+ arern 94 3-
1. Ball bearing/a\fﬁﬁﬂﬁﬂ

2. Lubrication/ Hgedl

3. Friction/ oo

4, Newton/ g+

Correct Answer :-

e Friction/ o

7) The pH value of the solution in which a particular amino acid does not
migrate under the influence of electric field is called its-/ IEGEEE gk pH HHE &t

T BT oITaT ¢ For W fagaa &3 & yura d ydta T oratl &7 ST 78 gian 32
1. Effusion point/ ﬁzwﬁ-—g

2. Neutralisation point/Gﬂ?ﬁ:ﬂavTUTﬁﬁ

3. Isoelectric point/?lﬂagqaﬁv_g:

4. Eutectic point/ gefdee forg
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Correct Answer :-

« Isoelectric point/?lﬂag'qﬂﬁ'_g

8) The maximum distance of a vibrating body from its mean position is called

its—/ BFITE 9 DY STB! AT STIT A fpad g3t Peardl 2-
1. Quality/ TUTa<T

2. Frequency/ 3fgf
3. Amplitude/ 3TIH

4, Pitch/ dRd

Correct Answer :-

« Amplitude/ 3OH

9) In a neutralisation reaction, an acid reacts with a base to give-/ RTARS IR G ndy|

fuferar & ar, &R & a1y f3par o3 a1 8-

1. Another base/ 3 &R

2. Another acid/ 39 3&]

3. Another acid and another base/ 3= 3% Td 31R7 &R

4. A salt and water/ dUl T4 Sl

Correct Answer :-
« A salt and water/ TdUl T4 Sl

10) Suitability of a soil growing crops depends upon its-/ &I # 37+ qTell el dt
Sugaaar R st ], 39-

1. Texture/ TRITTHT R

2. Colour/ TTWR

3. Type/ UPR W

4. All of these/ SWRIad gHT

Correct Answer :-

o All of these/m?ﬁ Tt
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11) Taj Mahal is threatened by pollution from-/ ATSTHEd &1 frd UEUUT A WaRT IS

BT 8-
1. Carbon dioxide/ ®Te- SRS S
2. Sulphur dioxide/ SO,

3. Chlorine/ FARME

4. Oxygen/ 0,

Correct Answer :-

« Sulphur dioxide/ SO,

12) Which group of atoms have nearly same atomic radius?/Wﬂﬁ%WW
@t =AY Bour TuE 82

1. Na, K, Rb, Cs
2. Li, Be, B, C

3. Fe, Co, Ni
4.F, Cl, Br, 1
Correct Answer :-

« Fe, Co, Ni

13) Association of two different organisms in which both are benefited is

called-/ g firs Sital & e W=y forad I emwif=ad g &, $ead o-
1. Parasitic/ URoidl

2. Symbiosis/ Fgeital

3. Nutrition/ ST

4. Saprophytic/ H?ﬁqﬁﬂiﬁ

Correct Answer :-

« Symbiosis/ ggidt

14) Frictional force increases with the increase in-/ 940 96 fA9 & §¢4 & 1Y g¢d

&-
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1. None of these/%’lﬁ‘@[ﬁ'ﬁ‘ﬁ
2. Smoothness of the surface/?lﬂ%’%ﬁlﬁﬂ:r@r

3. Roughness of the surface/ ddg & g«&ud I

4. Distance between two bodies/ & fUUST & Aen g ¥

Correct Answer :-

. Roughness of the surface/ Tdg & Q&G I

15) A reflecting surface is curved inwards. Now the mirror formed is-/ T&%

WRIa qag R B AR IwTa 31 ora Fifefa qufor -
1. None of these/ 370 Y P13 ol

2. Convex/ 31d

3. Concave/ 3fddd

4. Plane/ gHddA

Correct Answer :-

« Concave/ 3ddd

16) Black rust of wheat is caused by-/ g  ®1aT fobg I IUF BT 8-
1. Ustilago/ SR gRT

2. Rhizopus/ T3SITY gRI

3. Puccinia/ Ui gR1

4. Penicillium/ UfRfeR™ gRT

Correct Answer :-

« Puccinia/ ufda=ar grR

17) Ascorbic acid is called as-/ T&EhHIfJ® 3T HEaldl e-
1. Vitamin B/ fae1fiq B
2. Vitamin A/ faerfiqa A
3. Vitamin C/fderfdq C
4. Vitamin D/ faeif®= D
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Correct Answer :-

« Vitamin C/fdef®™ C

18) It is easier to drink hot tea from a porcelain mug than from a steel tumbler

as-/ W & $U H TH 919 &1 T $t g1 H 59 TP Ui o9 § §i+1 it smar giar @
wiife-

1. The porcelain mug has a handle/ i U A gfsa o glar s

2. The tea will cool faster in the steel tumbler/¥Id HU & A1 TS U U 3Hfdd doll I TSt
gl &

3. Porcelain is a heat insulator/tlﬁﬂ%ﬂw SHCHT H Il s\ldI%

4. All of the above/ SWRIiad 4t

Correct Answer :-

« Porcelain is a heat insulator/tlﬁﬁ%ﬂwmwm?{

19) Which steps should be taken for the conservation of forests?/ ®I--I TR0 g1
& &0 & fore foram wir=n @nfgae

1. Ban on felling of trees/ q&ﬁa"rao—cﬁuwﬁw
2. Prevention of forest fire/ a1 31 AT

3. Plantation on barren land/ SR Yfff O g&Riuor
4. All of these/maﬁm-ﬁ

Correct Answer :-

o All of these/maﬁ‘v'rﬂ-ﬁ

20) Acetic acid can be neutralised by-/ 3Rife® 3n< fFad gR1 IgRiIPHd BT 8-
1. Sodium hydroxide/ GifeTd 3RS

2. Nitric acid/ 13cid 3T

3. Sulphuric acid/m&ﬂﬂ

4. Citric acid/ fif¢® s

Correct Answer :-

. Sodium hydroxide/ 9Ifead gESIFES
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Topic:- General Knowledge

1) Jai Vilas Mahal is situated in — / 59 faeT Agd ®gl fRAIT 22

1. Jabalpur / SI&cYR
2. Indore / $aR
3. Bhopal / HIUI@

4. Gwalior / @Il

Correct Answer :-

« Gwalior/ qIferR

2) How many states does Madhya Pradesh share its boundary with?/ A%0 U
3= fpamt Trsal & A1y WAT T3 Ha1 8?2

1. Six/ ¥¢
2. Five/ Ui
3. Seven/ d1d

4, Four/ dRR

Correct Answer :-

3) Naurata is the dance performed by unmarried girls in the region

of Madhya Pradesh./ TRdl AU & & H sifdarfed asfeal gr1 feear s
T Ja gl

1. Bundelkhand/ Seeds

2. Chitrakoot/ fe=i@e
3. Baghelkhand/ SUTEUS

4. Malwa/ HIddI

Correct Answer :-

. Bundelkhand/ §aad@s
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4) In which year was the Alirajpur district created?/ a@wﬁmmaﬁﬁm
forar T T2

1. 2006
2. 2007
3. 2005
4. 2008

Correct Answer :-

- 2008

5) In how many districts will trees be planted under the Narmada Seva Yatra?/

T 991 9T & dgd fea+ foral § Us @me wngr?
1.15
2.14
3.17

4. 16

Correct Answer :-

6) In which of the following regions of Madhya Pradesh has the world’s oldest

algae fossil been recently discovered?/ Aeaye & fafafaa &= o & fow &= o gfmar
ST HIY R AGTd ST 5T 61 H Giol 7 g2

1. Bundelkhand/ §eads
2. Chitrakoot/ fe=@e

3. Satpura Plateau/ 9d4sSTIUoR

4. Malwa/ HIddl

Correct Answer :-

« Chitrakoot/ ﬁﬁ@

7) In 1997, a India vs. Sri Lanka ODI Cricket Match at the Nehru Stadium of
Indore was suspended just after 3 overs. What was the reason for suspending
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the match? / 1997 §, $ER & A% RIeH & YRd 9911 N1 & Uhieadiy fpde AT o1 3
3R} & 918 Freifad o< fear war u11 &9 fRefad o33 &1 | 1 SR AR

1. None of these / ﬁﬁ@fﬂﬁ'ﬁcﬂ'@
2. Pitch was dangerous to play on / ﬁa@aﬁ%%miﬁcrgamn

3. Insufficient Security arrangements / 3{$XIcT YRET IIRIT
4. Unruly crowd / 3ffFaf3a dts

Correct Answer :-

« Pitch was dangerous to play on / ﬁa@aﬁ%%u&rﬂgaam

8) In which place of Madhya Pradesh is the story of Lala Hardol famous?/ Tl

T Bt BT Hed U B1 fvd w1 § vl 82
1. Khajuraho/ @SRTg!

2. Orchha/ 3IR@T

3. Ujjain/ I

4. Maheshwar/ Tg%R

Correct Answer :-

. Orchha/ 3RST

9) Who has been awarded the Kalidas Samman by the Madhya Pradesh
government for the year 2016-17?/94 2016-17 ¥ A Y WRPR GRT BTG T
¥ ford gufaa fear 82

1. Bansi Kaul/ ERICAN]

2. Anupam Kher/ W@T

3. Raj Bisaria/ 1ol fagfan

4. Mallikarjun Mansur/ Hfc@To AR

Correct Answer :-

. Bansi Kaul/ st &id

10) Which of the following kingdoms ruled Indore?/ ﬁaﬂﬁﬁqmmg—vﬁvw
RITHA hcT YT1?
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1. Holkar/ glex
2. Scindhia/ e
3. Maratha/ HIIAT

4. Malwa/ HIddl

Correct Answer :-

» Holkar/ W

11) Which of the following medicinal plants is/are available in Madhya

Pradesh?/ fFafefad & 9 o19- 91 siuehia e g uew & Suasy 82
1. None of these/ 378 J BIs gl

2. Gwarpatha/ 1dRUI31
3. Safed Musli/ TWhg Tt
4. Both of the above/ SWRIad g

Correct Answer :-

» Both of the above/ ISR gt

12) Who was the first Advocate-General of Madhya Pradesh?/ HaUeRI & UYH

HETfIaaT B 4?2

1. Kunjilal Dubey/ $uildid ga

2. P.V. Dixit/ Ui.dt. &iféa

3. M. Adhikari/ TH. 3{fIHRI

4. Pt. Ravi Shankar Shukla/ U. Ifd=io e

Correct Answer :-

« M. Adhikari/ TH. 3{fIHRT

13) Who was the first woman Chief Secretary of Madhya Pradesh?/ e U= Bt
vt uigar ger afa o 4z

1. Urmila Singh/ 3fife fRig
2. Nirmala Buch/ ﬁﬁﬂﬁﬁr
3. Sheetala Sahay/ SISNIESER
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4. Sarojini Saxena/ RIS T

Correct Answer :-

e Nirmala Buch/ ﬁﬁ?ﬂ@ﬂ

14) Who among the following is known to have established the ‘Indore

Gharana’?/ ﬁ?ﬁl‘f@ﬁﬁ@ﬁq'@?W' WW%@I’EWW%?
1. Ustad Amir Khan/ IHE 3HR @

2. Ustad Bade Mohammad Khan/ 3G ds AlgHe IH

3. Abdul Karim Khan/ 3{sgd ®31d &

4, Rehmat Ali Khan/ YgHd 3fcll @

Correct Answer :-

. Ustad Amir Khan/ 351G 3HR I

15) Which portion of Madhya Pradesh was split to form the state of
Chhattisgarh in 2000? / WU & HIH- HIT BT T B Y 2000 W DURIG BT 74T T
9T T4T 41?2

1. North Western / IR Ufgt
2. North Eastern / B?Rqﬁf

3. South Eastern / Gfaror gaf

4. South Western / afaror afgred

Correct Answer :-

. South Eastern / &f&morgaf

16) What is the highest peak-point in Madhya Pradesh? /90 Ul &1 I=qH Tl T

g2
1. Kaimur Hill/ &HR UgTe!
2. Kalsubai/ HegaTs

3. Dhupgarh/ YUilg
4. Guru Shikhar/ {NQI{CR

Correct Answer :-
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« Dhupgarh/ YUile

17) The office of Public Service Commission of Madhya Pradesh is located at:/

HHAYUST B AP AT ATANT BT PIATAY Dl [Ud 82

1. Jabalpur/ SIgeTqR
2. Indore/ &R

3. Bhopal/ HraTd

4. Gwalior/ IR

Correct Answer :-

» Indore/ s?r{

18) The name of Kanha Tiger Reserve’s official mascot is:/ ®I%I CIgR frod &
STTIPTRG JUBHR HTAH &:

1. Bhoorsingh/ RR¥w

2. Sher Khan/ R @M
3. Barsingh/ sRRi9
4. Bagheera/ 9URI

Correct Answer :-

. Bhoorsingh/ {RRig

19) Rani Avantibai belonged to: /3 3/d<diars gl ¥ G fid 82
1. Sirpur/ ﬁlTER

2. None of these/ STH ¥ ®Is 7ol

3. Shajapur / RISIMYR

4. Ramgarh/ JHTg

Correct Answer :-

« Ramgarh/ JHTg
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Which famous personality of Madhya Pradesh is referred to as ‘Bullet’?/ 4

1T & for uRieg cafkdca @1 'gaie el Sar g?
1. Shankar Laxman/ QiR d&q0

2. Vijayaraje Scindhia/ fasrarms fiferar

3. Acharya Keshavdas/ MR SR

4. Anil Kakodkar/ 3 BTepIedh

Correct Answer :-

« Shankar Laxman/ QR d&q0

Topic:- General Hindi

1) gEa-TaATd qHI & :

1. UgTRI® IUUHaR

2. ARV S SU-IIDHR
3. IR SUMNHDHR

4, ORI SUMIHR

Correct Answer :-

. UfdeTRI® STIHHR

Correct Answer :-

. ToTYTHL fgd) & siarid

3) ‘UfEATS’ U A UTA B -
1.3
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2. 318
3. dTs
4.3dTs

Correct Answer :-

4) GYRITT U¢ § 99N 3
1. STUIHTG

2. 181

3. HHYRY

4.%%

Correct Answer :-

. TG

3, 3[eu
4. 39d gHI

Correct Answer :-

. Iad gt

6) WRY GPd 7 JH 9T W fagw foafy, v wmw v aR g us oy ufea 4 8
1. SUHT HADR

2. 3Ifad SAPR

3. fou=nfad srdieR

4. AT SAPR

Correct Answer :-
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8) T agY et § firem st FF-arga 3
1. RIFA YD T

2. [ gaREE® SR
3. feRIalY® S
4, TafeRgae ST

Correct Answer :-

. RFEEYDH GG

9) Frepue A48 :
1. 07 TR Y

2. JUT &R Y

3. ol Y

4. fo dfY

Correct Answer :-

. fogef |y

10) Iqar fora # dielt 9 arelt W aielt |
1. fAarS
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11) I W BT I TS 7 :
1, dfest
2. Frdegdt

3. f8R
4. 9Rq

Correct Answer :-

12) ‘Nebula’ T fgdt TR HTY® Weg 3 -
1. JTERIEHAT

2. AigTRT

3. ffAi%d

4, IC-Ge gl

Correct Answer :-

Correct Answer :-
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14) “3q-d9 HIAT YETa BT AR §
1. 3TH-HA HAT

2. TTAHCT BT
3. ST HAT
4. 39d gHI

Correct Answer :-

. 3ad gt

15) THAWS A YHIRIA ATfefAs uRa1 8
1. JHITH

2. gferd g

3, 997 Iy

4. TEITAS

Correct Answer :-

« HHNTH

16) “JHSH ‘Ted &l BT A TTHIT 150000 g 8- AT @ :

1. SRNIIS T
2. QWIdn dlay

3. QYT Taas

4. Jopdrde arR

Correct Answer :-

. foymar® T

17) fafafeq & fiaw g-gu adie:
1. iRt
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2. JIg-3IRTE
3. IRA-lfed
4. Rg-&aH

Correct Answer :-
- Hfea-fagfaa
18) e d g awa g :
1. BT B H Ja AR B |
2. Aie 3R T gl RW &
3. 3P SR PS AW |
4. 3THTY §gd I & |

Correct Answer :-

. AT MR AT T R R B

19) FaffRT i gs v 8 :
1. ST

2. 3leelq
3. 3ol

4. pdPg

Correct Answer :-

20) fogferfEa & qwrfya el Te-gm e § :
1. -G

2. -G

3. R

4. gal-gdar

Correct Answer :-
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Topic:- General Maths

1) DIRECTIONS: Find the wrong term in the given number series:/ﬁﬁfﬂ: iﬁ§'§
T goft | e ug 1a Be

1,2,12,63,316, 1704, 10446
1. 316

2.1704

3.63

4.12

Correct Answer :-

« 1704

2) A rectangular plot is 1,080 cm2 in area. If its breadth is 54 cm. Find its

perimeter: /T® ATAATPR YES BT &%d 1,080 T 9t 31 afe @) sE 54 AW, ot
SYPT UNHATY JTd B

1. 146 cm/146 9Ht
2.147 cm/ 147 It
3. 148 cm/148 I

4.149 cm/ 149 9

Correct Answer :-

.« 148 cm/148 I#

3) The roots of the quadratic equation x2+5x+6=0 are:/ fgurd IH®HI0I x2 + 5x +
6 =0FAT:

1.-4,-8

2.-5,-7
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Correct Answer :-

4) If the perimeter of an equilateral triangle is 48 cm, find its area:/ gfe o
TuaTg AYys 1 ukarg 48 Jt 3, O ST AT 19 B

1. 623 (2 /6293 f aefy
5 63V3 (2 / 633 uf fy
3.64V3 (2 ) 643 i Qe
4 613 (2 / 613 of
Correct Answer :-

. 643 2/ 64V3 i ey

5) The present ages of Mahajan and Sanjay are in the ratio of 8:7 respectively.
After 6 years the ratio of their ages will be 19:17. What will be difference of
their ages after 10 years./ Ao 3R G &1 qoH 3Tg PT SJUTd HA: 8:7 81 6 T4

YT 31 3TY PT U 19:17 BT 10 T UYTd 3! 3Tg PT 3faR FId BIFVTI
1.4 years/4<‘ﬂf
2.6 years/6 a4
3.5 years/SEI'Ef
4.8 years/8?:|1ﬂc

Correct Answer :-
« 4 years/4 Gl

6) Find two numbers whose sum is 29 and the product is 100:/3’[8"@T[{3I1?rﬁ,
ST AT 20 B 3R YUFTEE 100 B

1.10 and 10/10 T4 10
2.20and 5/ 20 Td 5
3.20 and 9/20 T4 9

4.25and 4/ 25 T4 4
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Correct Answer :-

« 25and 4/ 25Td 4

7) A shopkeeper gives two successive discounts of 7% each on the marked
price of Rs.20,000 of an article. The selling price (in Rs.) of the article is:/T®
IPTGR 20000 YT F 3ifhd Teu & fHeft g W 7% 1 31 HfA® Fe a1 81 g &1 faswva 4o
(. %) 7 e?

1.18,927
2.17,298
3.12,978
4.19,278

Correct Answer :-

8) DIRECTIONS: What should come in place of the question mark (?) in the
following series?/¢wr: Fgfafaa Joft & yyare e (2) & WM W F471 3471 =91fge?

110, 132, 156, ?, 210
1.162
2.172
3.182

4.192

Correct Answer :-

9) DIRECTIONS: What should come in place of the question mark (?) in the
following question?/fAdar: fAuferfad uy # usaras fag (2) & R W= o1 31T A1fgu?

3800 — 22 x 1968 + 48 =? x 7
1.414
2.416
3.412

4,418
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Correct Answer :-

. 414

10) A can do a piece of work in 12 days. B is 50% more efficient than A. In how
many days B will finish the same work?/A t{ﬁﬂo‘l’lﬁfaﬁ 12 ﬁﬂ‘fﬁ'mm%l B, A @t
3UET 50% 3P FIi I 8| dGIIR B T8 Hd fpa=t ft & v aAm?

1. 8 days/8 fa
2.12 days/12 faa
3. 24 days/24 f&A

4.6 days/6 fea
Correct Answer :-

. 8 days/8 faa

11) In an examination A gets 10% marks less than B and B gets 25% marks
more than C and C gets 20% marks less than D. If A gets 270 marks in 500
then D get:/ {5l tdien & A &1 B &1 30T 10% FH 3iF A, B & C B} 30aT 25% 3w

3P fi 3R C B D P VT 20% FH 3 A1 e A 1 500 AW 270 iF AT D I
fpa= ufa=ra siw firer?

1. 60%
2. 50%
3.40%

4, 45%

Correct Answer :-
e 60%

12) The average of six numbers is 32. If each of the first three numbers is
increased by 2 and each of the remaining three numbers is decreasing by 4,

then the new average is:/ B8 J@I3{ P71 3Hd 32 g1 afe ugelt 3 T@ma # ud® # 2 Ht
gf& B &Y WY 3R A fiF it & ud® | 4 "er fqu w1 ot a1 3 8:

1.34
2. 35

3.30
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4. 31

Correct Answer :-

- 31

13) If (2x + 3y) : (3x + 5y) = 18 : 29, then x : y is equal to:/afe¢ (2x + 3y) : (3x
+5y)=18:29%,d x : y R 3:

1. 3:4
2.2:3
3.1:5

4, 3:5

Correct Answer :-

e 3:4

14) A 120 meter long train is running at a speed of 90 km per hour. It will cross

a 230 m long railway platform in: /120 ﬁﬁﬁﬁ@w 90 &t ufa ge #t nfa d
T W61 ], dt 230 HieR @ Wewn &) UR $1 # a8 fea-n awg a2

1. 14 seconds/14 AHUS
2. 9 seconds/9 JAHUS
3. 7 seconds/7 YHUS
4. 4 seconds/4 YHUE

Correct Answer :-

e 14 seconds/14 qHUS

15) The speeds of two trains are in the ratio of 7:9. They are moving in the
opposite directions on parallel tracks. The first train crossed a pole in 4
seconds whereas the second train crossed the same pole in 6 seconds. Find the
time taken by the trains to cross each other completely. /<! Y@T3al &1 fd HT
3UTd 7:9 813 3 FrAHiaR vefal W faudia fa=m # o1 38 8 1 ugeht Yas) te @™ 3t 4 Abs
H IR el § T gusl MEt S T B 6 Ads B UR Hedl 81 Ml &b §RT Th gax Bt
TRE UR B | o T wwa gra s

1 1
5— 5-— .
1. 8Seconds/ 83Fs
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1 1
2— 2— .
2. 6Seconds/ ©dUHS
1 1
4— 4—- .
3. 8Seconds/ &d&s
1 1
3— - .
4. 6Seconds/ ©IGS

Correct Answer :-

1 1
5— 5— .
. BsSeconds/ 8TGS

16) The number of composite number between 101 and 120 are:/101 MR 120 &
dta ot Ayaa Se feat g

1.13
2.12
3. 14

4. 11

Correct Answer :-

17) 3 1

Divide ¥ 6800 in two part so that S.I. on the first part for Eyears at 6% p.a.
1

3_
will be equal to the S.I. on the second part for Z2years at 4% p.a./% 6800 &I Gl
1
. . iz "
YT & $9 UPR JIeT fh Tgd U IR 6% MG AT BTG 3 0 | ATYRYT TS, ga¥ YN R
1

32 ad & 49 aTffep saTer P ¥ A VYR T F AR &
1.7 2600, % 4200
2. % 2800, T 4000
3. % 2500, T 4300

4.3 2700, % 4100

Correct Answer :-

- 32800, % 4000
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18) A labour can do a job in 50 hours. After 5 hours he takes a break. What
fraction of the job is yet to be done?/ T® HuigX U®h HTH 50 He H Hedr 3| 5 He aI¢ 98
v <ia1 81 B8 P71 faar 4R 39 3y oft BT I 82

1.0.75
2.0.8
3.0.9
4.0.5

Correct Answer :-

« 0.9

19) Find the smallest of the following fractions:/fAufefad firs # & ¥« Bidt fi=
EIGKTE

20
, 500

18
5 484

15
3. 408

18
4. 360

Correct Answer :-

15
. 403

20) Find the largest of the following fractions:/fufefad il A @ 9aw a3t fU= 9@
P
6

1. 35

13

2. 69

19

3,98

21

4 113
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Correct Answer :-


http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com
http://www.freshersnow.com

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page


